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Compilerbau Übung 11

Aufgabe 1)

Grammatik: 
E ( E + T | E – T | T



T ( ( E )  | id | num

Parse- Baum für ((a) + (b)):
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Entsprechend der syntaxgesteuerten Definitionen kreieren folgendes:



E.n = T.n


(
T.n = E.n
)


E.ptr = mknode(‘+’, E.n, T.n)

   E.n = T.n
+
    T.n = E.n



   T.n = E.n

(  E.n = T.n
)



(  E.n = T.n
)
   T.n = mkl(id, id.entry)


 T.n = mkl(id, id.entry)
id




Id

Daraus ergibt sich der Syntaxbaum:
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Aufgabe 2)

a + a + (a + a + a + (a + a + a + a))
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Zahlenwerte?

Aufgabe 3)

Grammatik L ( id, L | id | ε
Übersetzungsschema:

L ( ε
L ( id  {if L.list contains id then L.val = false; } {print L.val}

L ( id, L1 {if L.list contains id then L1.val = false; else L1.val = L.val} {L1.list add id}




































































































